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Instructions for the Candidates
Write your Hall Ticket Mumber in the space provided on the top
of this page.
This paper consists of fifty multiple-choice type of queastions.
At the commencement of examination, the quastion book|at will
e given toyou. In the first 5 minutes, you are requested to open
the booklet and compulsonly examing it as below :

(i1 Tohave access tothe Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a boaket
without sticker-seal and do not accept an open hooklet.
Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra timewill be given.

After this venfication is over, the Tast Booklat Number
should be entered in the OMR Sheet and the OMR Sheat
MNumber should be entered onthis Test Booklat.

Each itern has four alternative responsesimarked (A), (B), (C)
and (D). You have to darken the cirgle as indicated below on the
correct response against eachiterm.

Example: @ . @

where (C) is the comrect response.

Your responses to theilems arg to be indicated in the OMR Sheet
given to you. |f you mark at any place other than in thecirclain
the Answer Sheet, it will notbe evaluated,

Read instructions given inside carafully,

Rough Work ista b gone in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheatpextept for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
lizble todisqualification.

You haveto return the test question booklet and OMR Answer
Sheetlothe invigilators at the end of the examination compulsorily
and must not carry it with you outside the Examination Hall.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.

(il

(i)

L Pade

@ ~;

10.
11.

12.

Hﬁaﬁgﬂgo N T )
SN ool sumds jeed” o Y o Sonls trabed.
B 5 D50 g eoBinY Bgeto SN dod.
H0S Erocemood Be EEphiites o gecedeol. 3ok nd
Dlonpoond” B (REvhE Soeda 3080 dod 38LS woTeds
@ Sy Bd Toﬂ-ﬁ.rm%‘ﬂé.
(i) e o St arcaid 5bhe sotiad &%) ShED bostis
Dodiod, 56 heodd faboin 30meE BAD &) pehEhe
Doy solEHolns.

B S T SaoBols HEroo (5t S I;;sgaaudfa 5o
Hopgia o [ W&:ﬁﬁ . o Hoggth
Boecbod mh dor ArDods e Badhe for Dupd
e Sor e Egss” for e Borecotie
ot} SRIrBETs (9 Soriy Dodd Do) exls DIednd’ whs
L] w2 waimar SRETA
BOHOSOe FEHSEBND SMRnGS D Stiche .
(i) 3 2gom PoEFE Soys PEyEc o OMR 5550 2
edtgor OMR 3y Soays S ST 3 085pecd oasss,
B0 EH T BT Hdipaduo (A), (B), (C) utui (D)
SUT TR, GRAGREE DN Ot e Son DAL Iiom
OMR uig6eed® @06 pam Soph gipeds s Syd 298
ot ardod Sy wd droscel BEE So8 BELS Ao

(ii)

gl Mg Al Gowd, sowy e e 38 e
Falll s EhodE Serogstie ok,

3 S d%e giyd ArsHeds T Sobed.

DBl SEEEse J56 5l @ripesand” dard.

OMR s 2 286 pood’ Srietitens Jioes Blpel) 360 ool
B rafioinets BED Do S o cratio mh o amd Sitese Do
e BhiSeg000B T eigs S ardipsiert, 2
shE Srtions Bogt D EEEd, Sebass OMR @i ssdbom
SOZREm A gyl ol 505 4D wolbath SRRt
&IE).-".SE dors wrd Frossoel us SEgds aldrhood.
rwdg Sy desd; slefeles, Jegif Hofoes
Jodensd 2biabs® addrheddo Jhgo.

@0y AIFEToL Irdaye dhol daa.




EARTH ATMOSPHERIC, OCEAN AND PLANETARY SCIENCES
Paper - |l

1. Mean radius of the earth’s orbit about the

Sun is expressed in
(A) Astronomical unit
(B) Light year

(C) Aristotalian year

(D) Geometrical unit

2. Earth’s only natural satellite is
(A) Sun
(B) Mercury
(C) Moon

(D) Venus

3. “Each planet is roughly twice as far from
the Sun as/its elosest neighbour” is

known as

(A) Nebular hypothesis
(B). Bode's law

(C) Darcy's law

(D) Coulomb’s law

4. Mohorovicie.discontinuity represents
boundary between
(A) Mantle and outer core
(B) Outer core and inner core
(C) Crust and mantle

(D) Weathered rock and unaltered rock

5. Statement 1 : Physical equipotential
surface of gravity is
called geoid

Statement 2 : Geoid reflects the true
distribution of mass
inside the earth

Statement 3 : Geoid differs from the
theoretical ellipsoid by

small amount
(A) 1istrue, 2 and 3 false
(B) 1is false, 2 and 3 true
(C) 1 and 2 are true but 3 is false

(D) All the three statements are true



6. Magnetisation acquired by earth during

slow settling of the fine grained particles

in the presence of external field is called
(A) Isothermal remnant magnetisation
(B) Detrital remnant magnetisation
(C) Chemical remnant magnetisation

(D) Viscous remnant magnetisation

7. 11 year cycle of external component of

earth's magnetic field is called
(A) Diurnal variation
(B) Magnetic storm
(C) Sun spot activity

(D) Local magnetic variation

8. Famous sentence of James Hutton,

“Present is the Key to the past” is based on
(A) Principle of uniformitarianism
(B) Principle of fossil content
(C) Principle of lithology

(D) Principle of superposition

9. Silicified wood is an example of

(A) Cast and mould
(B) Petrifaction
(C) Ichnofossils

(D) Trace fossils

10. The nearest planet to the Sun is

(A) Jupiter
(B) Venus
(C) Mercury

(D) Mars

11. Amongst the silicates, pyroxenes belong to

(A) Orthosilicates
(B) Sorosilicates
(C) Chain silicates

(D) Sheet silicates

12. Igneous rocks with SiO, > 62% are

designated as
(A) Basic

(B) Acidic

(C) Intermediate

(D) Ultrabasic



13. What is the name of the rock dominated

by mineral calcite ?
(A) Limestone
(B) Granulite
(C) Phyllite
(D) Eclogite
14. Metamorphic rock with conspicuous
parallel structure is called
(A) Granulite
(B) Marble
(C) Quartzite

(D) Schist

15. Wall rock alterations that indicate mineral

concentrations include
(A) Carbonatization
(B) Albititization

(C) Chiloritization

(D) All of the above

16. Spalling.is a term associated with
(A) fFault
(B) Weathering
(C) Glacial action

(D) Sea floor spreading

17. The dry porous area of pebbles and
boulders at the foot hills of Himalayas is

called
(A) Bhabar
(B). Bhangar
(C) Terai
(D) Khadar
18. The sediments that a stream moves

along the bottom of the stream channel

is called

(A) Bottom load

(B) Suspended load
(C) Fine load

(D) Bed load

19. The type of soil where horizon formation

is absent is
(A) Vertisol
(B) Inseptisol
(C) Entisol

(D) Ultisol



20. Which of the following statements on [ 53 \yhich of the following'show the effect of

glacial landform are correct ? ,
tensional forces ?

1. Arete is the knife-edged boundary

between cirques 1. Columnar joints

2. Medial moraines occur in the middle 2. Mud cracks

of the glacier 3. Crosssjoifits

3. Drumlins are a group of small hills

made by glacial erosion 4. Bedding joints

4. Glacial striae indicate the direction of (A)*1'and 2 only
movement of glaciers (B) 1and 3 only
A) 1,2and 4
) (C) 1,2and 3 only
(B) 2,3and 4
(D) 1,2,3and 4
(C) 1and 3
(D) 2and 4 24. The fold having angular hinge is
21. The fault in which the han@ing wall has KOGWNAS
gone down relative to_therfoot wall is (A) Tight fold
known as

(A) N | fault (B) Chevron fold
armal rau

(B) Reverse fault (C) Parallel fold

(C) Transcurrent fault (D) Similar fold

(D) Strike g 25. The ratio of the shearing stress to the

22. The foldwhich is convex upwards is called shearing strain is
fold.

(A) Poisson's ratio
(A). Syncline
(B) Incompressibility
(B) Recumbent

(C) Synform (C) Young's modulus

(D) Antiform (D) Rigidity modulus




26. The branch of geophysics, which deals

with seismic waves is called
(A) Seismology

(B) Limnology

(C) Palynology

(D) MNone of the above

27. The upper shell of the earth up to 100 km
depth is called

(A) Crust

(B) Lithosphere
(C) Biosphere

(D) Asthenosphere

28. is the point situated onthe

surface of the earth above thefocus of an
earthquake.

(A) Epicentre
(B) Centre of gravity
(C) Focal point

(D) Stress location

29. is an example of sea floor

spreading.
(A)=San Marina trench
(B). San Andreas fault
(C) Mid Atlantic ridge

(D) Rocky and Andes mountains

30. Tsunamis are developed due to
1. Submarine quakes
2. Floods
3. Volcanic eruptions within oceans
4. Cyclones
(A) 1'and 3 are correct
(B) 1and 2 are correct
(C).3 and 4 are correct

(D) All are correct

31. The oceanic conveyor belt flows

continuously in
(A) Arctic ocean
(B) Atlantic ocean
(C) Indian ocean

(D) Pacific ocean

32. Continental shelf is defined as

(A) The highest of the continent from

mean sea level

(B) The highest difference between two

continents

(C) The zone around the continents from
the low water mark seaward upto the

continental slope

(D) The distance between two continents



33. Water masses are identified by

(A) Temperature, salinity, nutrients and

oxygen content
(B) Temperature they possess
(C) Depth at which they occur

(D) The mass of water they possess

34. The force due to the rotation of the earth is
(A) Pressure gradient force
(B) Fractional force
(C) Gravity force
(D) Coriolis force
35. In the atmosphere, meteorologically, the
most significant waves are
(A) Sound
(B)Gravity
(C) Rossby

(D) Electromagnetic

36. The type of low frequency gravity wave
trapped in a vertical boundary on the

equator is called

(A) Shearing gravity
(B). Kelvin wave
(C) Rossby wave

(D) Internal wave

37. The height of the Prandtl layer is
(A) 10 m
(B) 50 m
(C) 500 m

(D) 1500 m

38. The layer in which ozone is present is

called

(A) Troposphere
(B) Stratosphere
(C) Mesosphere

(D) Exosphere



39. In an inversion layer
(A) Temperature decreases with height
(B) Temperature increases with height
(C) Temperature is zero
(D) Temperature is constant
40. The approximation where density
variation is taken only in the pressure

gradient term and not in the other terms is

called

(A) Hydrostatic approximation
(B) Geostrophic approximation
(C) Boussinesq approximation

(D) Brunt Vaisala approximation

41. The word “ecosystem” was coined by
(A) Haeckle
(B) Buckle
(C) Alexander

(D) Tansley

42. The term “overburden™is associated with
(A) Opencast mining
(B) Underground mining
(C) Strip mining
(D) Offshore mining

43.:Which of the following statements are

incorrect ?

1. 0.4 to 0.5 microns is not a part of the

visible band

2. 0.7 to 0.8 microns is not a part of the

visible band

3. Radio waves have the shortest

wavelength

4. Gamma ray band is also known as
infrared band

(A) 1,3and 4
(B) 2,3and 4
(C) 1,2and 3

(D) 1,2 and 4

44, "Minamata” disease is the result of
(A) Air pollution
(B) Muclear pollution
(C) Water pollution

(D) Moise pollution



45. Primary ecological succession may be

observed in
(A) Deep forest
(B) New volcanic islands
(C) Coastal areas
(D) Delta region
46. The international decade for natural

hazard and their mitigation was observed
by UNO during

(A) 1980s
(B) 1990s
(C) 2000s

(D) 2010s

47. Hot spots in biodiversity is the region,

which shows

(A) Abundant availability of plants and

animals

(B) Richest and most threatened

reserveirs of plants and animals

(C) Egual distribution of plants and

animals

(D). Sparse distribution of plants and

animals

48. |dentify the correct sequence of processes

in hydrological cycle

(A) Precipitation, condensation, run off

and evaporation

(B) Run off, condensation, evaporation

and precipitation

(C) Condensation, evaporation,

precipitation and run off

(D) Evaporation, condensation,

precipitation and run off

49. The correct erosional sequence in the

degradation of land
(A) Gully, ravine, rill and bad land
(B) Rill, ravine, bad land and gully
(C) Rill, gully, ravine and bad land

(D) Ravine, gully, rill and bad land

50. Which one of the following is an Indian

satellite sensor ?
(A) TM

(B) LISSII

(C) HRV

(D) MSS



ANSWERS KEY -EARTH SCIENCES
PAPER-II (SUBJECT CODE- 08)

] A 126 |A
2 C |27 |B
3 |B |28 A
4 C |29 |C
5 D {30 |A
6 B 31 |B
7 C 132 |C
8 A |33 |A
9 B 134 |D
10 |C |35 |C
11 |C |36 |B
12 /B |37 |B
13 |[A |38 |B
14 'D |39 |B
15 'D |40 |C
16 B |41 |D
17 A |42 |A
18 D [43 |A
19 |[C 144 |C
20 A |45 |B
21 A |46 |B
22 |1D |47 |B
23 |C |48 | D
24 B |49 |C
25 |D |50 |B
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